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(1) (@), @ ), @Qv), (i)
(2) (i), (i), (iv), @)
(3) (i), (i), @), Gv)
@ (Gib), @v), @), (i)
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(1) Ffea g (2) F-SE
(3) Wi H=a(4)

- (A) , Human
i .

Match the following :
List-I List-II

(i) E.Durkheim

1 Society

(B) Society

(C) Division of

(i) Kingsley Davis
(iii) T.B. Bottomore

labour in
society
(D) Sociology:  (iv) Maclver and
A Guide to Page =
Problems and
Literature
Select the correct answer from the codes
given below :
Codes :
(A) B) (C) (D)
(1 @) @) @) @Gv)

@ Gy @) Gv) @

@) @ Gv) i) (D)

4) @) v O 3D

Arrange the following in the sequence of
societies given by Karl Marx :

(i)  Ancient Society

(ii) Feudal Society

(iii) Primitive Society

(iv) Asiatic Society

Select the correct answer using the codes
given below :

(1) ), (i), (), (i)

@) (i), (i), (v),

(3) (i), (i), (@), (v)

@) (i), (iv), (), (i)

Who has distinguished between Simple
Society and Industrial Society on the basis of
mechanical and organic solidarity ?

(1) T.Parsons (2) B.Malinowski
(3) H. Spencer (4) Emile Durkheim

Which one of the following pairs is not

correctly matched ?

(1)  Organic Solidarity — E. Durkheim

(2) Pattern Variable - T. Parsons

(3) Looking glass self — C.H. Cooley

(4) Individualistic — R.K. Merton
Functionalism

Which one of the following is not an element
of community ?

(1)  Definite territory

(2) We-feeling

(3)  Cultural diversity

(4)  Self-Sufficiency

16
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-1 - 1
(A) TEFE T () ARF T

(B) wifeww wqg (i) w.Ud, FHot
(C) T & (i) s=g M.

HHAY
(D) 3= ¥ AR (iv) U< aReie
el 9Yg

@A) B © D
(1) @ @G (i) @[Qv)
(2 G (Gv) @) (i)
() Gv) (i) () @)
4 @) Gv) G @

‘T TE H STTUROT ¥ FER et e
e v 2

(1) w=as (2) A

3) e 4) F
Hﬁi?faa'l%'%‘

(1) & F &g

(2) i H TSH P WA

(3) WA U 5o e foR gow & |t
(4) 3T H ASH & WY

At 1 Tveal § faw ST

(1) 3T sgaf

(2) WIS gt
(3) el foeme
(4) uFITE el foamE

The concepts “In group” and “Out group” is
given by

- (D _Maclver (2) Sumner
(3) Davis (4) Cooley
Who gave the concept of ‘Primary Group” ?
(I) Mead (2) Cooley
(3) Sumner (4) Lundberg

10.

11.

12.

Which one of the following is not the
characteristic of Primary Group ?

(1)  Physical Proximity

(2) Small size

(3) Relationship is an end in itself.
(4)  Short duration of relationship

Match the following :
List-1 List-1I

(A) Primary (i) R.K.Merton
group

(B) Statistical (i) C.H. Cooley
group

(C) Reference (iii) W.G. Sumner
group

(D) In-group and (iv) R. Bierdstedt
out-
group

Codes :
(A) (B) (C) (D)

(1) @ @Gi) @) (iv)

(2) (i) (v) (@) (i)

(3) (v) (i) (i) ()

4 @) @Gv) () @

The concept “Reference group” was first
introduced by :

(1) Hyman 2)
(3) Srinivas (4)

Sororate is a marriage :

(1)  between sister and brother

(2)  with maternal aunt’s daughter

(3) between the widower with the
deceased wife’s sister

(4)  with the paternal aunt’s daughter

The marriage of Draupadi with the Pandava

is an example of :

(1)  Non-adelphic Polyandry

(2)  Adelphic Polyandry

(3)  Sororate marriage

(4)  Simultaneous sororate marriage

Merton
Cooley



13.  SEuRaEr e g i, Tl 3 affaetfea | 13, The family which is confined to husband
=i q Ofg & a,ﬁ—%-ﬁ o ST & wife and unmarried children as its members
'ﬁ’ A is classified as :
() 5% (1) Single Person Family
(2) TEHE IREAR (2) Nuclear Family
(3) fowga aiEw (3) Extended Family
@) meqﬁm; (4) Traditional Joint Family
14. Fr=fataa = e i 14. Match the following :
List-I : List-II
eI efl- 11 (A) Karta (i) Marriage outside
(A) () T« e foaw the state
5y ofEr (B) Patriarchal (ii) Head of the
®) qﬁaﬂlz o ) g family family
. (C) Endogamy (iii) Marriage within
(C) =faaw (i) T & 3ie] foare the group
(D) rIenH (iv) TR & RS (D) Anuloma (iv) Eldest Male
g’ﬁqgﬁgm head of the
(v) e S F Tamgy
7 ooy e & =i (v) Marriage of u.pl;:er
caste man with a
)  foame lower caste
ha® woman
A B © D Codes :
(D G)  Gii) Gv) (W) A) B © @
2 (@) @Gv) i) () () @) @) vy )
3) (v) (i) @v) (i) ) (i) @Gv) i) (V)
@ (v Gv) @) @ (3) (v) @) (Gv) (i)
@ (v >Gv) Gi) @
15, -1 % e g1 o foerm ST 15.  Match List-I with List-II : .
'{:Eﬁ-l geA-11 List-I List-11
(A) T Frivw G) 1955 (A) Dowry Prohibition (i) 1955
Act
st (B) Hindu  Marriage (ii) 1956
(B) f&g faaw sfufm=m (i) 1956 Act
©) F= sfusR (iii) 2005 (C) Hindu Succession (iii) 2005
s Adt
- D) D tic Viol i 1961
D) "ﬁﬁ%m R v) 1961 D) Ag:nes ic Violence (iv)
= faw T s A | W@ ST AT Select the correct answer from the codes
HhaE - given below :
Codes :
A ® © O
. : ; A B) © @D
O @b 4 W A0 M G () @ O
(2 ({) (ff‘) ({y-) (fl) 2 @ Gi) (@(v) (i)
(3) Gv) G) @) @ (3) (@v) Gi) @) ()
4 Gv) @ @G (i) @ @Gv) @@ G) (@i
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(1) @), (i), (v)

(2) (i), (iv)
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WA TR G Ugel WeraR R sfuframs
iR fepam :

() 1950 (2)
(3) 1954 (4)

1947
1964

16.

17,

lsl

19.

20.

21.

22,

23.

Who defined religion in terms of a distinction
between the sacred and the profane ?

(1) Malinowski

(2) C. Levi Strauss

(3) A.R. Radcliffe Brown

(4) E. Durkheim

“Religion is the opium of the masses.” Who

said this ?

(1) K. Marx (2) E. Durkheim

(3) M. Weber (4) T. Parsons

What is common to magic, religion and

science ?

(1)  Observation and experimentation

(2)  Equal influence on human being

(3)  Orientation towards the unknown

(4)  Orientation towards the supernatural.

Which theory is not related to the origin of

religion ?

(1)  Animism (2) Totemism

(3) Naturism (4)  Social Contract

Which of the following elements is not found

in communalism ?

(1) Tolerance (2)

(3) Insecurity (4)

Communalism is :

(1) Blind adherence to own language

(2) A sense of loyality towards the whole
society

(3) Patriotism

(4)  An over-zealous sense of belonging to
one’s own religion.

Remedial measure to eradicate inequality of

caste in India are :

(i)  Education

(i) Encouragement to intercaste marriage

(iii) Minimum use of the term “Caste”

(iv) To encourage economic equality

Codes :

(1 @), (i), (iv)

(2) (i), (iv)

(3) (), (), (iid), (iv)

4) (i), (iv)

First Act enacted against corruption by

Indian Government in the year :

(1) 1950 (2) 1947

(3) 1954 (4) 1964

Prejudice
Tension
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25.

26.

27.

28.

29.

30.’

Who is odd one among the following social
thinkers of social change ?

(1)  Julian Steward (2) A.Comte

(3) K.Marx (4) Sorokin

The concept of ‘Sensate culture’ was given by :
(1) RXK.Merton (2) Pitrim Sorokin
(3) Talcott Parsons (4) Coser

Who among the following is regarded as the
technological determinist of social change ?
(1) E.Durkheim (2) G.Simmel
(3) T. Veblen (4) T.Malthus

The process of social change to which people
attribute positive value is related —

(1) Globalization (2) Urbanization

(3) Development (4) Economic Growth

According to Marx that the driving force of
social change is :
(1) Social

(3) Political

(2) Economic
(4) Religion

Match the following :
List-I List-I1
(Author) (Change
Perspective)
(A) Sorokin i) Structural-
functional
(B) Dahrendorf (ii) Cyclical
(C) Spencer . (iii) Dialectical
(D) Durkheim (iv)  Evolutionary
Codes :
@A ® © O
(1) Gy G Gvy) @
2 @ (i) G ()
3) @) v @ (ii1)
4) @) @ i  (Gv)

Which one of the following correctly

explains the term “institution” ?

(1) A place where many people work.

(2) An office complex where many
important works are carried out.

(3) An organization which is engaged in
some important functions.

(4) A set of related folk-ways and mores.

16
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31.

32.

33.

3.

35.

36.

37.

38,

Religion, marriage, family and caste are
examples of whom ?

(1)  Social values

(2)  Social Institutions

(3) Social Norms

(4)  Segmental Division of Society

Which one of the following is an example of
Association ? '
(1) Caste 2)
(3) Trade Union (4)

Class
Village

Which of the following is not a feature of
association ?

(1) A collectivity of people

(2) Having certain objectives

(3)  Voluntary membership

(4) Permanency

The smallest unit of culture is :
(1)  Cultural trail

(2) Cultural complex

(3)  Cultural pattern

(4) Cultural area

The tendency to evaluate one’s own culture
as superior is known as :

(1)  Cultural relativism

(2)  Sanskritization

(3) Ethnocentrism

(4) None of these

Which one is not a characteristics of

culture ?

(1)  Culture is not transmitted,

(2)  Culture is learnt.

(3) Culture is social,

(4) Culture is both super-individual and
super-organic.

Culture complex means :

(1)  Smallest unit of culture

(2) Combination of various culture traits
(3)  Cultural area

(4) Cultural pattern

The idea of “Culture of poverty” was
introduced by whom ?

(1)  Oscar Lewis

(2) Abel Smith

(3) Samuel Mencher

(4)  Peter Townsend
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39.

40.

41,

42.

43.

45.

46.

Which amongst the following is not a
characteristic of scientific orientation ?

(1) Value free study

(2)  Study of “What is ”

(3)  Universality

(4)  Subjectivity

Which one is not the bases of sociological
perspective ? '
(1) Fact (2)
(3) Concepts 4

Variable
Pre-Conception

Which perspective did Auguste Comte use in
the study of society ?

(1)  Structural Perspective

(2) Historical Perspective

(3) Conflict Perspective

(4) Functional Perspective

It is a way of looking at events, forms and
processes through the trained eyes of a
scientist :

(1) Perspective (2)
(3)  Theory “4)

Ideal type
Values

The smallest unit of social structure is :
(1) Individual (2) Status
(3) Role (4) Group

Who among the following propounded the
concepts of “latent” and “manifest”
function ?

(1) E.Durkheim

(2) R.K.Merton

(3) B. Malinowski

(4) A.R. Radcliffe Brown

The concept of social structure was first used
by whom ?

(1) Merton 2)
(3) Maclver (4)

Cooley
Spencer

Which of the following is not a functional

pre-requisite of social system, according to

Parsons ?

(1)  Social Disjunction

(2) Pattern maintenance and Tension
management

(3) Adaptation to the environment

(4) Goal attainment

16
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49.

50.

51.

“Social theory and Social structure” is
written by whom ?

(I)  Robert G. Andry

(2) Durkheim

(3) Albert B. Cohen

(4) R.K.Merton

Which is the appropriate example of
Ascribed Status ?
(1) Teacher

(2) Son
(3) Prime Minister
(4) Clerk

Match the items in the List-I with the items
in the List-II and select the correct answer
from the codes given below :

List-I List-IT
(A) RoleStrain (i) A cluster of
associated roles
that  together
form a social
status.
Difficulty in
meeting one’s
role obligation

(B) Role conflict (ii)

(C) Role (iii) Competing
transition demands of two
roles at a time
(D) Role set (iv) Change from
one role to
another
Codes :
(A) B) (©) (D
(y Gvy @Gy @ (iii)

@) Gi) (Gv) G @)
@) G G Gv) @)
@ O  Gi) () 3dv)

The term “Status Group” was coined by :
(I)  Robert Merton

(2) Max Weber

(3) Talcott Parsons

(4) Ralph Linton

Which one of
ascribed status ?
(1) A Law graduate
(2) A Gram Punchayat
(3) A Married Person
(4) A Woman

the following is indicate
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Who gave “looking-glass-self” Theory ?

(1) Cooley (2) Davis

(3) Mead (4) Durkheim
Socialization is process of :

(1) Learning (2) Reading
(3) Writing (4) Observing

Which of the following is not an agency of
socialization ?

(D
(3)

Family )

(C))

Peer group

Police School

The concept of “I” and “Me” with reference
to development of “Self” was used by :

(1) S.Freud

(2) C.H.Cooley
(3) H.M. Johnson
(4) G.H.Mead

Son of a blacksmith has attained professional
education and became an engineer. This is an
example of :

(1) Intergenerational mobility
(2) Horizontal mobility

(3) Intragenerational mobility
(4) Vertical mobility

Which is not a form of Social Stratification ?
(1) (2) Class
(3) (4) Caste

Religion
Gender

A hierarchical division of society into higher
and lower social unit is :

(1)  Social Stratification
(2) Social Differentiation
(3) Social Inequality

(4) Diffusion

Who propounded the “Functional theory” of
social stratification ?

(1) Davis and Moore

(2) Ogburn and Nimkoff
(3) Toynbee

(49) Morgan

16
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Who is the author of ‘Homo-Hierarchicus’ ?
(1)  G.S.Ghurye (2) M.N. Srinivas
(3) Louis Dumont (4) Andre Beteille

Match the List-I with the List-II and select
the correct answer from the codes given
below :

List-I _ List-IT

(A) Conscious and (i) Karl
Unconscious Mannheim
control

(B) Direct and (ii) Kimball
Indirect control Young

(C) Positive and (iii) George
Negative Gurwitch
Control

(D) Organized and (iv) Cooley and
Unorganised Bernard
Control

Codes :
A ® © O

1 G @ (iv) (i)

(2 i) G @ (iv)

3y Gv) @) (i) (i)

@4 @ (v) i) (D)

Associative social process does not include -

(1)  Adjustment

(2) Co-operation

(3) Accommodation

(4) Competition

How many types of tertiary relatives

described by Murdock ?

(1y 151 2) 161

3) 171 4) 181

Which among the following tribes is
matrilineal in India ?

(1)  Khasi )
(3) Santhal 4)

Which of the following best reflects tribal
society ?

(1)  Hierarchical social relations

(2)  Kinship relations

(3) Commercial agriculture

(4)  Scriptural religion

Munda
Ongi
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Which among the following is not a
Scheduled Tribe of India ?

(1) Bhils (2)
(3) Gurjars ()]

Who held the view that Indian tribals were
backward Hindus ?

Santhals
Ho

() G.S.Ghurye (2) Y.B. Damle
(3) A.R.Desai (4) N.K. Bose
Who coined the term ‘Subaltern’ ?

(1) Karl Marx

(2) N.K.Bose

(3) Antonio Gramsci

(4) David Hardiman

Which one is not the cause of Population
Growth ?

(1) Low age at marriage

(2) High illiteracy

(3) Religious attitude towards family
planning

(4) Professional education

Which of the following economist was
primarily interested in population studies ?
(1) Marx (2) Weber
(3) Ricardo (4) Malthus

Which of the following is not related to
demographic processes ?

(1) Fertility (2)
(3) Migration )

“Imitation’ Theory of Deviance”
propounded by

(1) H.S.Becker (2)
(3) E.Durkheim (4)

Mortality
Morbidity

was

G. Tarde
S. Cohen

Who has given the concept of “Born
Criminal” ?

(1) C.Lombroso
(3) E.Durkheim

(2) EH. Sutherland
(4) G.Tarde

“Sampurnanand Ashram” is associated with
which of the following ?

(1) Borstal School (2) Open Jail
(3) Closed Jail (4) Remand Home
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Which of the following is not a cause of
juvenile delinquency ?

(1)  Broken family

(2) Emotional instability

(3) Mental deficiency

(4) Proper socialization

The term white-collar crime was first
introduced by :

(1) C.Barnes (2) E. Sutherland
(3) A.Cohen (4) E.Durkheim

The type of suicide that increases in
Economic Crisis is

(1)  Altruistic 2)
(3) Egoistic 4)

The “Differential Association” theory of
crime is propounded by :

Anomic
Fatalistic

(1) Cohen

(2) Cloward and Ohlin
(3) Sutherland

(4) Becker

Match the List-I with the List-II and select
the correct answer from the codes given
below :

List-I List-IT

(A) Theory of (i) Cloward Ohlin
Anomie

(B) Differential (i) Howard Becker
opportunity

(C) Differential (iii) Robert K. Merton
association

(D) Labelling (iv) Sutherland
Theory

Codes :
Ay B) © (D)

L @ G @G 3(v)

(2 Gy @@ Gv) (ii)

(3) (Gv) @y @ (ii)

@ Gi) (@) >Gv) Gi)

The key concept in “Labelling theory” is that
of : .

(I) acceptance (2) stigma

(3) motivation (4) aspiration
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Out of the four pairs of writers, which one is
not associated with the study of crime and
deviance ?

(1)  Sutherland and Cressay

(2)  Elliott and Merill

(3) Coser and Rosenberg

(4) Barnes and Teeters

Which of the following is not a traditional
crime ?

(1)  Theft

(2) Robbery

(3) Corporate Crime
(4) Rape

The Juvenile delinquents in India belong to
the age group of

(1) below 12 years

(2) below 14 years

(3) below 18 years

(4) below 20 years

Which one of the following is not a measure
of central tendency ?

(1) Mean
(2) Median
(3) Mode

(4) Standard Deviation

Scientific observation means to see things :
(1) With a purpose

(2) With many purposes

(3) Without a purpose

(4) for important discussion

The interview guide will be used during
interview by

(1) interviewee (2) interviewer
(3) different peoples (4) Both (1) and (2)

The tool where answers are filled in by the
respondents themselves, is known as

(1) Interview (2) Questionnaire
(3) Schedule (4) Case study

Which tool can be used for the complete-
study of single social unit ?

(1) Questionnaire (2) Case study
(3) Observation (4) Schedule

16



89.

91.

92.

93.

94.

16

Frfafen smdum = ot w& ww aant
(1) Eum fiysen, de HeheH, oo
TuTeH, T faveor iR Fage
(2) STHYR INvHed, q WO, 99
Heper, e favewor 3t feem
(3) orHYM sifyweu, Ter favervor, qer
(4) = Hher, dT HEHH, 7o favayor,
SHYE e X T

TS Y[ TTEhed Bt &

(1) ‘o= TEl g’ < wrreheuT

(2) ‘T WL Y UTRHCT

(3) ‘waifys 3R & o Wehear

(4) ‘ofiga AR T’ rEHTET

Reedl & i geul B S = T FeE

ﬁﬂﬁT?ﬂﬂT%:

(1) oFeem w

(2) VTR

(3) oTEET & R

(4) oTEEd @ gH=T

I HIAH FRATSAT Pl T Tl AT & ForTeht

SRRl gRT S T 3 AW 2

(1) SUHEAT (2) fes@

(3) orgEuH (4) W=

‘TGS 3k WERel e %

AEHF DS ?

(1) =t e 2) & &

3) u fir= 4) 3 aeReH

@M F FER DA TH TGS T2 B

Toreiwer &t & 2

(1) WIS T2 S TPl S et & |

(2) EHIRF qeF S A T A § |

(3) QST e | aregar @t fasivar st
T

(4) ST ToF MY a1 WHR 141
TR & & 9 8 |

15

89.

90.

91.

92.

93.

9%4.

The correct sequence of the following
research steps is :
(I) Research design, data collection, data

processing, data analysis and
interpretation

(2)  Research design, data processing, data
collection, data  analysis and
interpretation

(3) Research design, data analysis, data

© collection, data processing and
interpretation.

(4) Data collection, data processing, data
analysis, research design and
interpretation.

A null hypothesis is a hypothesis of :
(1)
2
3)
4)

no difference

some difference
maximum difference
average difference

A statement of relationship between variable
to be tested is known as

(1)  research question
(2) hypothesis
(3) objective of the study

(4) problem of the study

What is called the tentative statement which
has to be tested by researcher ?

(1) Hypothesis (2) Theory
(3) Research (4) Concept

Who is the author of the book
“Mcdonaldization of Society” ?

(1) G.Ritzer (2) B.Smart
(3) A.Giddens (4) E. Wallerstein

According to Durkheim, which one is not the
characteristics of social fact 7

(1)  The nature of social fact is Abstract,
(2) Social fact is exteriority to individual.

(3) Constraint is the characteristics of
social fact.

Social fact may be normal and
pathological both.

“4)
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What is the correct sequence of the above
Weberian classification of types of social
action ?

(i) Traditional action

(i) Zweckrational action
(iii) Westrational action
(iv) Affectual action
Code :

(1 @ Gv)y i) ()
2 @@ @i (@Gv) @)
(3) @G @dv) Gi) @)
@ () G Gv) @

Whose name is associated with “Verstehen
approach” ?

(1) E.Durkheims (2) E. Tonnies
(3) Max Weber (4) V. Pareto
Who wrote “The history of all hitherto

existing society is a history of class
struggles” ?

(1) Dahrendorf (2)
(3) Coser 4)

Who is the co-author of “Communist
Manifesto” with Marx ?

(1) Hegel (2)
(3) F.Engels (4)

Karl Marx
Weber

Max Weber
Pareto

Match the following :

List-I List-IT
(Concepts) (Thinkers)
"~ (A) Organic (i) M.N. Srinivas
Solidarity
(B) Rationalisation (ii) Emile
Durkheim
(C) Alienation (iii) Max Weber
(D) Westernization (iv) Karl Marx
Codes :
Ay B) © O
() (i) @G @G (v
() @) @) 3Gv) ®
(3) @) @) @ (@)
4 @iy @) vy @
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“Method in Social Research” book is written

by whom ?

(1) Sellitz and Jahoda

(2)  Goode and Hatt

(3)  Stephen and Phillip

(4)  Sawner and Fredell

Who has developed the concepts of Global
Village’ ?

(1) Marshall McLuhan

(2)  Peter Worsley

(3) Cohen

(4) Landis

The concept of “Sanskritization” is
propounded by

(1)  S.C.Dube (2) D.P. Mukherjee
(3) G.S.Ghurye (4) M.N. Srinivas

Who among the following is not regarded as
a post-modernist thinker ?

(1) J. Alexander (2) J. Derrida

(3) Jameson (4) J.F.Lyotard

‘How are student performing relative to what
they are capable of doing ?’ is representative
of —

(I)  Ability referenced
(2)  Growth referenced
(3) Norm referenced
(4)  Criterion referenced

‘What can student do and not do ?’ is
representation of —

(1)  Ability referenced
(2) Growth referenced
(3) Norm referenced
(4)  Criterion referenced

Which one of the following is not a
component of the assessment frame work ?
(1)  Purpose (2) Specifications
(3) Validity (4) System

‘Learner’s self-concept moves from being
dependent to increasing level of self-
directedness’ is an assumption of —

(1)  Pedagogy

(2)  Andragogy

(3)  Models of Teaching
(4)  Levels of Teaching
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According to Robert Sylwester, the absence
of brain science curricula in teacher

education creates - possibilities
for -

(1)  Educational creativity

(2) Educational backwardness

(3) Educational hucksters

(4) Educational motivation

‘Students activity construct knowledge’ is a

fundamental assumption of —

(1) Behaviourist approach
(2) Constructivist approach
(3) Motivational approach
(4)  Activity approach

Awareness and Understanding of one’s own
thought process is known as —
(1)  Self-understanding

(2) Intra-understanding
(3) Metacognition
(4) Cognition of self

‘Specific notion’ of ‘advanced organizers’ or
‘strategies of organization to enhance
learning’ was the view point of

(1) David Aasubel

(2) Jean Piaget

(3) Benjamin Bloom

(4) Robert Gagne

The current emphasis on ‘constructivism’

integrates the views of

(1) Jean Piaget and cognitive psychology

(2) Lev Vygotsky and cognitive
psychology

(3) Jean Paget, Lev  Vygotsky and
cognitive psychology

(4) Behaviouristic ~ psychology  and

cognitive psychology

‘Speakers and Listeners have tacitly agreed
on a shared goal to successfully exchange
information in ways that are maximally
relevant to one another’, is a principle of —

(1) Constructivism

(2) Co-operative learning
(3) Transfer of learning
(4) Theory of motivation
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Emotional development is better understood
within the context of —

(1) Intellectual development
(2)  Creativity development
(3) Motor development

(4)  Spiritual development

Which one of the following has been
envisaged as one stop education portal by
MHRD ?

(1) Sakshat (2) Swayam

(3) MOOCs (4) E-Pathshala

NROER refers to —

(1) National Resource of  Open
Educational Resources

(2) National Reach on Outstanding
Educational Record

(3) National Repository of Open
Educational Resources

(4) National Reaction on Outstanding

' Educational Research

ICT is defined as —

(1) Information and Communication
Technology

(2) Diverse set of technological tools &
resources to communicate and to
create, disseminate, store & manage
information.

(3) Information and communication
technology for students using internet

(4)  Technological tools for information &

communication

Which of these is not a five guiding principle
for curriculum development of NCF-2005 ?

(1)  Connecting knowledge to life outside
the school

(2)  Ensuring that learning shifts away
from rote methods.

(3)  Promoting behaviouristic approach

(4) Enriching the curriculum so that it

goes beyond textbooks

Which one is not an assumption of Inquiry
Training Model ?

(1) All knowledge is tentative.

(2)  There are many causes of one effect.

(3)  Curiosity and Problem solving is a
nature of human being.

(4) Cramming is base of all knowledge.
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Which of these is not under ‘Information
processing model’ ?
(1)  Concept Attainment Model

(2)  Assertive Training Model
(3) Inductive Thinking Model
(4)  Advance Organiser Model

‘Synectics — A model to develop creativity’
was propounded by

(1)  Guilford (2)
(3) J1.J.Gordan (4)

‘Environment covers all the outside factors
that have acted on the individual since he
began life’ is a statement given by —

H. Gardner
L. Vygotsky

(1) Douglas & Holland
(2) Woodworth

(3) Woolf & Woolf
(4)  Hurlock

The chief psychological characteristics of
adolescence is —

(1) Lack of love for opposite sex

(2) Lack of Imagination

(3) Due to emotional development, lack of
stability and adjustment

(4) Lack of feeling for social service

According to Law of Cephalocaudal

Development —

(1)  First part of head develops and then
gradually body, hand & development
of legs follows

(2) First body, hand & legs develops and
then development of head follows

(3)  Equal development of whole body.

(4) It depends from individual to
individual.

Which one of the following is not the law of
‘secondary laws of learning’ given by
Thorndike ?

(1) Law of Multiple Response

(2) Law of Effect

(3) Law of Prepotency of Element
" (4) Law of Associative Shifting

For attention, emotion is a/an

(1)  acquired motivation
(2) normal activity

(3) internal motivation
(4) unnecessary event
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Which of the following is not an element of
communication ?

(1) Communication context
(2) Mental state

(3) Sender

(4) Feedback

Which of the following is not a ‘Chief
characteristics’ of computer based model of
teaching ?

(1) Computer takes the place of Teacher.

(2) Individual differences are given
priority.

(3) It covers pre-active & interactive
phrase of teaching.

(4) It can only be used for training

purposes.

Which of the following does not come under
Psychomotor domain ?

(I) Organisation

(2) Control

(3) Co-ordination

(4)  Habit formation

Cognitive, Affective & Psychomotor

objectives can be achieved completely
through —

(1) Instructional Technology

(2)  Behavioural Technology

(3) Teaching Technology

(4)  Programmed Instruction Technology

Which of the following is correct according
to Gagne ?

(1) Signal learning follows stimulus —
response learning .

(2)  Rule learning follows concept learning

(3)  Chain learning follows Discrimination
learning

(4) Rule learning foIlows Problem solving
learning

Theory of Cybernetics is related to —
(1) Motivation (2) Learning
(3) Feedback (4) Attention

During system evaluation which of the
following is not relevant ?
(1) Performance (2)
(3) Size 4)

Utility
Cost
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The continent where sociology first
developed is :

(1)  Australia (2) Europe

(3) Asia (4) America

Who is the founder of sociology ?

(1)  Herbert Spencer

(2) Auguste Comte

(3) Max Weber

(4) Kingsley Davis

According to Bierstedt, which one is not the

characteristic of sociology ?

(1) Itis a pure science.

(2) Itis an applied science.
(3) Itis an abstract science.
(4) ltis an empirical science.

The formal teaching of sociology began in
India

)
3)

1925
1919

1923
1920

(2)
)

Who said “Science goes with the method and
not with the subject-matter” ?

(1) Maclver and Page
(2) Bogardus

(3) Kimbal Young
(4)  Stuart Chase

Who said “Sociology is the scientific study
of social life” ?

(1) Simmel (2) Ogburn

(3) Sorokin (4) Maclver and Page
Sociology was established as an independent
discipline in :

(1) 1830 (2) 1838

(3) 1967 4 1938 -

Which Thinker among the following is
related with synthetic school of sociology ?

(1) TB.Bottomore (2) Max Weber
(3) Parsons (4) Sorokin
Which thinker suggested the word

“Ethology” in place of “Sociology” ?
(1)  John Stuart Mill (2) Bottomore
(3) Odum (4) Lester Ward
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Which of the following is not a key factor in
the origin of sociology ?

(1)  Industrial Revolution
(2)  The Enlightenment
(3)  Globalization

(4)  French Revolution

The book ‘Sociological Imagination’ was
written by :

(1) Peter Berger (2)
(3) A.Collins (4)

C.W. Mills
J.S. Mill

The concept of ‘Positivism’ was coined by
which one of the following ?

(1) Karl Marx

(2) C.H. Cooley

(3) Auguste Comte

(4)  Emile Durkheim

The meaning of Gesselschaft is :
(1)  Society/Association

(2) Group

(3) Community

(4) Institution

Who said “Society is the web of social
relationship” ?

(1) Green

(2) Giddens

(3) Merton

(4) Maclver and Page

Who has proposed the law of three stages of
development of knowledge ?

(1)  Durkheim
(2)  Auguste Comte
(3) Marx
(4) Parsons
Who described the “Gemeinschaft” and
“Gesselschaft” are two types of society ?
(1) Tonnies (2) Durkheim
(3) Weber (4) Karl Marx
The meaning of Gemeinschaft is
(1) Association (2) Group
(3) Society (4) Community
a
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